Questioning with est-ce que and inversion

1) Two of the most common ways we can ask a question in French are est-ce que and
inversion.
2) Est-ce que and inversion, when used on their own without other question words, are
used to ask yes/no questions.
3) Whether you use est-ce que or inversion the question will mean the same thing.
Example:
“Est-ce que tu aimes le chocolat?” and “Aimes-tu le chocolat?” both mean “Do
you like chocolate?”

USING EST-CE QUE and EST-CE QU’
- Est-ce que or est-ce qu’ are placed in front of a statement to turn it into a question.
- The spelling of est-ce que will change to est-ce qu’ if the first word of the statement,
the subject or personal pronoun, begins with a vowel (a,e,i,o,u).

EXAMPLES:
Using est-ce que: Tu vas au cinéma ce soir. — Est-ce que tu vas au
cinéma ce soir?
Using est-ce qu’: Tl joue au hockey. — Est-ce qu’il joue au hockey?

USING INVERSION
- The shorter way of asking a question.
- The subject and the verb of the statement are switched
- Once the subject and the verb are switched, either a hyphen (-) or two hyphens
separated by the letter t (-t-) are added in between.
- “+t-”is used only when the verb ends with a vowel, and the subject starts with a vowel.

EXAMPLES:
Using inversion with - Tu vas au cinéma ce soir. — Vas-tu au cinéma ce
soir?
Using inversion with -t- Il joue au hockey. — Joue-t-il au hockey?

NOTES:




Practice Sheet

Complete on a piece of loose leaf. Check your work with the answer keys.

PART 1: Answer the following questions about est-ce que:
1. To turn a statement into a question, where do we need to put est-ce que?
2. True or False: est-ce que is used to ask questions that can be answered with yes and
no.
3. What does your statement need to begin with in order for est-ce que to change to
est-ce qu’ (Hint: there are five words that it could start with, please list all five)

PART 2: Answer the following questions about inversion:
1. True or False: When using inversion, the subject and the verb switch places.
2. What symbol needs to be put in between the two words that have been switched?
3. When do we use -t- instead of - in between the two words that have been switched?

PART 3: Change the following statements into questions using est-ce que. Make sure
you use est-ce qu’ when necessary.

a) Nous avons un grenouille vert.

b) Elle apprend les maths.

c) Vous voulez aller au cinéma.

d) Tu peux patiner sur tes patins.

e) J'ai oublié mon crayon dans la classe.

f) Tu aimes le chocolat.

g) On va a l'école.

h) il a gagné le jeu.

i) Elle joue au hockey.
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PART 4: Change the following statements into questions using inversion:
a) Nous avons un chien.
b) Il aime le hockey.
c) Tu vas au centre commercial.
d) Vous avez deux ou trois chats.
e) Elles jouent un jeu de basketball.
f) Elle aime les ours.
g) On peut aller a Disneyland.
h) Nous aimons le chocolat et les bonbons.
i) Vous faites du ski.
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Practice Sheet

Complete on a piece of loose leaf. Check your work with the answer keys.

ANSWER KEY
PART 1: Answer the following questions about est-ce que:

1. To turn a statement into a question, where do we need to put est-ce que?

Est-ce que needs to be written in front of the statement

2. True or False: est-ce que is used to ask questions that can be answered with yes and
no.

True - est-ce que, when used on its own without a question word, is used to

ask a yes or no question.

3. What does your statement need to begin with in order for est-ce que to change to
est-ce qu’ (Hint: there are five words that it could start with, please list all five)

If your statement begins with il, elle, on, ils, or elles then you need to use

est-ce qu’ instead of est-ce que.

PART 2: Answer the following questions about inversion:
1. True or False: When using inversion, the subject and the verb switch places.
True
2. What symbol needs to be put in between the two words that have been switched?
A hyphen (-)

3. When do we use -t- instead of - in between the two words that have been switched?
Once you switch the subject and the verb, you need to add -t- only if there are vowels on
either side of the hyphen. In other words, if your subject starts with a vowel and your verb ends
in a vowel, then you will need to use -t- instead of - between them.

Example: aime-t-il

PART 3: Change the following statements into questions using est-ce que. Make sure
you use est-ce qu’ when necessary.
a) Nous avons un grenouille vert.
Est-ce que nous avons un grenouille vert?
b) Elle apprend les maths.
Est-ce qu’elle apprend les maths?
c) Vous voulez aller au cinéma.
Est-ce que vous voulez aller au cinéma?
d) Tu peux patiner sur tes patins.
Est-ce que tu peux patiner sur tes patins?



Practice Sheet

Complete on a piece of loose leaf. Check your work with the answer keys.

e) J'ai oublié mon crayon dans la classe.
Est-ce que j'ai oublié mon crayon dans la classe?
f) Tu aimes le chocolat.
Est-ce que tu aimes le chocolat?
g) On va a I'école.
Est-ce qu’'on va a I'école?
h) il a gagné le jeu.
Est-ce qu’il a gagné le jeu?
i) Elle joue au hockey.
Est-ce qu’elle joue au hockey?

PART 4: Change the following statements into questions using inversion:
a) Nous avons un chien.
Avons-nous un chien?
b) Il aime le hockey.
Aime-t-il le hockey?
c) Tu vas au centre commercial.
Vas-tu au centre commercial?
d) Vous avez deux ou trois chats.
Avez-vous deux ou trois chats?
e) Elles jouent un jeu de basketball.
Jouent-elles un jeu de basketball?
f) Elle aime les ours.
Aime-t-elle les ours?
g) On peut aller a Disneyland?
Peut-on aller a Disneyland?
h) Nous aimons le chocolat et les bonbons.
Aimons-nous le chocolat et les bonbons?
i) Vous faites du ski.
Faites-vous du ski?



